### Project: MAIN\_ST

 Description:
 No. 123456, Reconstruction of Main Street

 Bid Date:
 rev date

 Revised:
 rev date

 Location:
 Orange County

 Contract #:
 D500231

#### NOTE: All Costs are calculated based on Takeoff Quantity.

### Bid Item: 101 - Box out excavation

						Equipment						
Тур	Code	Description	Quantity	υ/м	Base Rate	Cost	Fuel	Repairs	Insurance	Other	Sis Tax	Total
E	LRW-014	Komatsu 220 Backhoe	5.00	Days	225.00	\$1,125.00	\$375.00	\$25.00	\$10.00	\$0.00	\$0.00	\$1,535.00
		TOTAL - Equipment:	5.00			\$1,125.00	\$375.00	\$25.00	\$10.00	\$0.00	\$0.00	\$1,535.00
						Labor						
Тур	Code	Description	Quantity	U/M	Wages	Taxes	Gen Liab	Work Comp	Sm Tools	Holidays	Benefits	Total
L	LAB0001	Foreman	5.00	Days	\$684.00	\$96.44	\$99.64	\$85.96	\$34.20	\$0.00	\$280.40	\$1,280.64
L	LAB0002	Skilled laborer	20.00	Days	\$2,608.00	\$367.73	\$379.91	\$327.75	\$130.40	\$0.00	\$1,121.60	\$4,935.38
L	OPR0001	Class A Operator	5.00	Days	\$879.60	\$124.02	\$128.13	\$112.49	\$43.98	\$0.00	\$326.00	\$1,614.23
L	OPR0002	Class B Operator	5.00	Days	\$851.20	\$120.02	\$123.99	\$108.86	\$42.56	\$0.00	\$326.00	\$1,572.63
		TOTAL - Labor:	3	5.00	\$5,022.80	\$708.21	\$731.67	\$635.06	\$251.14	\$0.00	\$2,054.00	\$9,402.88
		Cost Per Man/Day:	26	8.65								
		Cost Per Man/Hr (8 HrDay):	3	3.58								
						Trucking						
Тур	Code	Description	Quantity	U/M	Base Rate	Cost						Total
0	TRK0001	haul 1 mile from job site	500.00	cys	\$1.66	\$830.00						830.00
		TOTAL - Trucking:	500.00			\$830.00						830.00
						Rental						
Тур	Code	Description	Quantity	υ/м	Base Rate	Cost	Fuel	Repairs	Insurance	Other	Sis Tax	Total
R	DOZER550	Case 550 Dozer	5.00	Days	159.09	\$795.45	\$789.75	\$20.00	\$5.00	\$0.00	\$55.68	\$1,665.88
R	ROL-DIRT	Roller - Dirt	5.00	Days	160.00	\$800.00	\$1,184.63	\$10.00	\$2.50	\$0.00	\$56.00	\$2,053.13
		TOTAL - Rental:	10.00			\$1,595.45	\$1,974.38	\$30.00	\$7.50	\$0.00	\$111.68	\$3,719.01

### Project: MAIN\_ST

 Description:
 No. 123456, Reconstruction of Main Street

 Bid Date:
 Revised:
 rev date

 Location:
 Orange County

 Contract #:
 D500231

#### NOTE: All Costs are calculated based on Takeoff Quantity.

### Bid Item: 101 - Box out excavation

							Subcontractor			
Тур	Code	Description		Quantity	U/M	Base Rate	Cost	Discount	SIs Tax	Total
s	SMC 15165-115649	CERTIFIED WBE		10.00	EA	\$425.00	\$4,250.00	\$0.00	\$0.00	\$4,250.00
			TOTAL - Subcontractor:	\$10.00			\$4,250.00	\$0.00	\$0.00	\$4,250.00

### Project: MAIN\_ST

 Description:
 No. 123456, Reconstruction of Main Street

 Bid Date:
 rev date

 Revised:
 rev date

 Location:
 Orange County

 Contract #:
 D500231

#### NOTE: All Costs are calculated based on Takeoff Quantity.

### Bid Item: 201.01.1 - 8 in SDR 35 PVC 10 ft deep

						Equipment						
Тур	Code	Description	Quantity	U/M	Base Rate	Cost	Fuel	Repairs	Insurance	Other	SIs Tax	Total
E	LRW-001	Pickup, 3/4 ton	2.50	Days	15.91	\$39.78	\$50.00	\$2.50	\$0.63	\$0.00	\$0.00	\$92.90
E	LRW-013	10 wh Dump Truck	10.00	Days	80.00	\$800.00	\$400.00	\$50.00	\$50.00	\$0.00	\$0.00	\$1,300.00
		TOTAL - Equipment:	12.50			\$839.78	\$450.00	\$52.50	\$50.63	\$0.00	\$0.00	\$1,392.90
						Labor						
Тур	Code	Description	Quantity	U/M	Wages	Taxes	Gen Liab	Work Comp	Sm Tools	Holidays	Benefits	Total
L	LAB0001	Foreman	2.50	Days	\$342.00	\$48.22	\$49.82	\$42.98	\$17.10	\$0.00	\$140.20	\$640.32
L	LAB0002	Skilled laborer	5.00	Days	\$652.00	\$91.93	\$94.98	\$81.94	\$32.60	\$0.00	\$280.40	\$1,233.85
L	LAB0003	Basic Laborer	2.50	Days	\$312.00	\$43.99	\$45.45	\$39.21	\$15.60	\$0.00	\$140.20	\$596.45
L	LAB0004	Pipe Layer	5.00	Days	\$660.00	\$93.06	\$96.14	\$84.41	\$33.00	\$0.00	\$280.40	\$1,247.01
L	OPR0001	Class A Operator	2.50	Days	\$439.80	\$62.01	\$64.07	\$56.25	\$21.99	\$0.00	\$163.00	\$807.11
L	OPR0002	Class B Operator	2.50	Days	\$425.60	\$60.01	\$62.00	\$54.43	\$21.28	\$0.00	\$163.00	\$786.32
L	TEA0001	Group 2 Teamster	2.50	Days	\$339.60	\$47.88	\$49.47	\$0.00	\$16.98	\$0.00	\$125.40	\$579.33
		TOTAL - Labor:	2	2.50	\$3,171.00	\$447.11	\$461.92	\$359.21	\$158.55	\$0.00	\$1,292.60	\$5,890.39
		Cost Per Man/Day:	26	1.80								
		Cost Per Man/Hr (8 HrDay):	3	2.72								
						Material						
Тур	Code	Description	Quantity	U/M	Base Rate	Cost		Discount			SIs Tax	Total
м	AGGR00001	Crusher Gravel	2,112.33	ton	\$12.00	\$25,347.92		\$0.00			\$0.00	\$25,347.92
м	AGGR00004	Pea Gravel	61.87	ton	\$14.00	\$866.19		\$0.00			\$0.00	\$866.19
м	AGGR00005	Screened Sand	165.37	ton	\$7.00	\$1,157.61		\$0.00			\$0.00	\$1,157.61
м	ASPH00003	Type 3 Binder Asphalt Concrete	218.75	ton	\$62.00	\$13,562.50		\$0.00			\$0.00	\$13,562.50
м	PVC0001	8 in SDR 35 cl2	500.00	lf	\$5.25	\$2,625.00		\$0.00			\$0.00	\$2,625.00
		TOTAL - Material:	3,058.32			\$43,559.23		\$0.00			\$0.00	\$43,559.23

#### Project: MAIN\_ST

 Description:
 No. 123456, Reconstruction of Main Street

 Bid Date:
 rev date

 Revised:
 rev date

 Location:
 Orange County

 Contract #:
 D500231

#### NOTE: All Costs are calculated based on Takeoff Quantity.

### Bid Item: 201.01.1 - 8 in SDR 35 PVC 10 ft deep

						Trucking						
Тур	Code	Description	Quantity	υ/м	Base Rate	Cost						Total
0	TRK0001	haul 1 mile from job site	1,703.70	cys	\$1.66	\$2,828.15						2,828.15
		TOTAL - Trucking:	1,703.70			\$2,828.15						2,828.15
						Rental						
Тур	Code	Description	Quantity	U/M	Base Rate	Cost	Fuel	Repairs	Insurance	Other	SIs Tax	Total
R	DOZER550	Case 550 Dozer	2.50	Days	159.09	\$397.73	\$394.88	\$10.00	\$2.50	\$0.00	\$27.84	\$832.94
R	HOE-300	Komatsu 300	2.50	Days	500.00	\$1,250.00	\$987.19	\$12.50	\$5.00	\$0.00	\$87.50	\$2,342.19
R	LOADER930	Cat 930 RT Loader	2.50	Days	204.55	\$511.38	\$473.85	\$12.50	\$2.50	\$0.00	\$35.80	\$1,036.02
R	ROL-BOMAG	Roller Bomag walk behind	2.50	Days	80.00	\$200.00	\$78.98	\$2.50	\$0.63	\$0.00	\$14.00	\$296.10
		TOTAL - Rental:	10.00			\$2,359.10	\$1,934.89	\$37.50	\$10.63	\$0.00	\$165.14	\$4,507.25

### Project: MAIN\_ST

 Description:
 No. 123456, Reconstruction of Main Street

 Bid Date:
 rev date

 Revised:
 rev date

 Location:
 Orange County

 Contract #:
 D500231

#### NOTE: All Costs are calculated based on Takeoff Quantity.

# Bid Item: sawcut - Sawing pavt

						Equipment						
Тур	Code	Description	Quantity	U/M	Base Rate	Cost	Fuel	Repairs	Insurance	Other	SIs Tax	Tota
E	LRW-007	Road Saw	4.00	Days	75.00	\$300.00	\$80.00	\$8.00	\$1.00	\$0.00	\$0.00	\$389.00
		TOTAL - Equipment:	4.00			\$300.00	\$80.00	\$8.00	\$1.00	\$0.00	\$0.00	\$389.00
						Labor						
Тур	Code	Description	Quantity	U/M	Wages	Taxes	Gen Liab	Work Comp	Sm Tools	Holidays	Benefits	Tota
L	LAB0002	Skilled laborer	4.00	Days	\$521.60	\$73.55	\$75.98	\$65.55	\$26.08	\$0.00	\$224.32	\$987.08
		TOTAL - Labor:		4.00	\$521.60	\$73.55	\$75.98	\$65.55	\$26.08	\$0.00	\$224.32	\$987.08
		Cost Per Man/Day:	24	16.77								
		Cost Per Man/Hr (8 HrDay):	3	30.85								
						Material						
Тур	Code	Description	Quantity	U/M	Base Rate	Cost		Discount			SIs Tax	Tota
М	SAW000001	Saw Blades Abrasive 18in conc.	13.33	ea	\$35.00	\$466.55		\$0.00			\$0.00	\$466.55
		TOTAL - Material:	13.33			\$466.55		\$0.00			\$0.00	\$466.55

### Project: MAIN\_ST

 Description:
 No. 123456, Reconstruction of Main Street

 Bid Date:
 rev date

 Revised:
 rev date

 Location:
 Orange County

 Contract #:
 D500231

#### NOTE: All Costs are calculated based on Takeoff Quantity.

### Bid Item: 201.01.2 - 8 in SDR 35 PVC 15 ft deep

						Equipment						
Тур	Code	Description	Quantity	U/M	Base Rate	Cost	Fuel	Repairs	Insurance	Other	SIs Tax	Total
E	LRW-001	Pickup, 3/4 ton	2.00	Days	15.91	\$31.82	\$40.00	\$2.00	\$0.50	\$0.00	\$0.00	\$74.32
E	LRW-013	10 wh Dump Truck	8.00	Days	80.00	\$640.00	\$320.00	\$40.00	\$40.00	\$0.00	\$0.00	\$1,040.00
		TOTAL - Equipment:	10.00			\$671.82	\$360.00	\$42.00	\$40.50	\$0.00	\$0.00	\$1,114.32
						Labor						
Тур	Code	Description	Quantity	U/M	Wages	Taxes	Gen Liab	Work Comp	Sm Tools	Holidays	Benefits	Total
L	LAB0001	Foreman	2.00	Days	\$273.60	\$38.58	\$39.86	\$34.38	\$13.68	\$0.00	\$112.16	\$512.26
L	LAB0002	Skilled laborer	4.00	Days	\$521.60	\$73.55	\$75.98	\$65.55	\$26.08	\$0.00	\$224.32	\$987.08
L	LAB0003	Basic Laborer	2.00	Days	\$249.60	\$35.19	\$36.36	\$31.37	\$12.48	\$0.00	\$112.16	\$477.16
L	LAB0004	Pipe Layer	4.00	Days	\$528.00	\$74.45	\$76.91	\$67.53	\$26.40	\$0.00	\$224.32	\$997.61
L	OPR0001	Class A Operator	2.00	Days	\$351.84	\$49.61	\$51.25	\$45.00	\$17.59	\$0.00	\$130.40	\$645.69
L	OPR0002	Class B Operator	2.00	Days	\$340.48	\$48.01	\$49.60	\$43.54	\$17.02	\$0.00	\$130.40	\$629.05
L	TEA0001	Group 2 Teamster	2.00	Days	\$271.68	\$38.31	\$39.58	\$0.00	\$13.58	\$0.00	\$100.32	\$463.47
		TOTAL - Labor:	1	8.00	\$2,536.80	\$357.69	\$369.54	\$287.37	\$126.84	\$0.00	\$1,034.08	\$4,712.31
		Cost Per Man/Day:	26	1.80								
		Cost Per Man/Hr (8 HrDay):	3	2.72								
						Material						
Тур	Code	Description	Quantity	υ/м	Base Rate	Cost		Discount			Sis Tax	Total
м	AGGR00001	Crusher Gravel	1,056.16	ton	\$12.00	\$12,673.96		\$0.00			\$0.00	\$12,673.96
м	AGGR00004	Pea Gravel	30.94	ton	\$14.00	\$433.10		\$0.00			\$0.00	\$433.10
м	AGGR00005	Screened Sand	82.69	ton	\$7.00	\$578.81		\$0.00			\$0.00	\$578.81
м	ASPH00003	Type 3 Binder Asphalt Concrete	109.38	ton	\$62.00	\$6,781.25		\$0.00			\$0.00	\$6,781.25
м	PVC0001	8 in SDR 35 cl2	250.00	lf	\$5.25	\$1,312.50		\$0.00			\$0.00	\$1,312.50
		TOTAL - Material:	1,529.16			\$21,779.61		\$0.00			\$0.00	\$21,779.61

#### Project: MAIN\_ST

 Description:
 No. 123456, Reconstruction of Main Street

 Bid Date:
 rev date

 Revised:
 rev date

 Location:
 Orange County

 Contract #:
 D500231

#### NOTE: All Costs are calculated based on Takeoff Quantity.

### Bid Item: 201.01.2 - 8 in SDR 35 PVC 15 ft deep

						Trucking						
Тур	Code	Description	Quantity	U/M	Base Rate	Cost						Total
0	TRK0001	haul 1 mile from job site	851.85	cys	\$1.66	\$1,414.07						1,414.07
		TOTAL - Trucking:	851.85			\$1,414.07						1,414.07
						Rental						
Тур	Code	Description	Quantity	U/M	Base Rate	Cost	Fuel	Repairs	Insurance	Other	Sis Tax	Total
R	DOZER550	Case 550 Dozer	2.00	Days	159.09	\$318.18	\$315.90	\$8.00	\$2.00	\$0.00	\$22.27	\$666.35
R	HOE-300	Komatsu 300	2.00	Days	500.00	\$1,000.00	\$789.75	\$10.00	\$4.00	\$0.00	\$70.00	\$1,873.75
R	LOADER930	Cat 930 RT Loader	2.00	Days	204.55	\$409.10	\$379.08	\$10.00	\$2.00	\$0.00	\$28.64	\$828.82
R	ROL-BOMAG	Roller Bomag walk behind	2.00	Days	80.00	\$160.00	\$63.18	\$2.00	\$0.50	\$0.00	\$11.20	\$236.88
		TOTAL - Rental:	8.00			\$1,887.28	\$1,547.91	\$30.00	\$8.50	\$0.00	\$132.11	\$3,605.80

### Project: MAIN\_ST

Description:No. 123456, Reconstruction of Main StreetBid Date:rev dateRevised:rev dateLocation:Orange CountyContract #:D500231

#### NOTE: All Costs are calculated based on Takeoff Quantity.

# Bid Item: 301.05.1 - Rough grade

							Equipment						
Тур	Code	Description	Qu	antity	U/M	Base Rate	Cost	Fuel	Repairs	Insurance	Other	Sis Tax	Total
E	LRW-001	Pickup, 3/4 ton		2.50	Days	15.91	\$39.78	\$50.00	\$2.50	\$0.63	\$0.00	\$0.00	\$92.90
		TOTAL	- Equipment:	2.50			\$39.78	\$50.00	\$2.50	\$0.63	\$0.00	\$0.00	\$92.90
							Labor						
Тур	Code	Description	Qu	antity	U/M	Wages	Taxes	Gen Liab	Work Comp	Sm Tools	Holidays	Benefits	Total
L	LAB0001	Foreman		2.50	Days	\$342.00	\$48.22	\$49.82	\$42.98	\$17.10	\$0.00	\$140.20	\$640.32
L	LAB0002	Skilled laborer		2.50	Days	\$326.00	\$45.97	\$47.49	\$40.97	\$16.30	\$0.00	\$140.20	\$616.92
L	LAB0003	Basic Laborer		2.50	Days	\$312.00	\$43.99	\$45.45	\$39.21	\$15.60	\$0.00	\$140.20	\$596.45
L	OPR0001	Class A Operator		2.50	Days	\$439.80	\$62.01	\$64.07	\$56.25	\$21.99	\$0.00	\$163.00	\$807.11
L	OPR0002	Class B Operator		5.00	Days	\$851.20	\$120.02	\$123.99	\$108.86	\$42.56	\$0.00	\$326.00	\$1,572.63
		т	OTAL - Labor:	15	5.00	\$2,271.00	\$320.21	\$330.82	\$288.26	\$113.55	\$0.00	\$909.60	\$4,233.44
		Cost P	er Man/Day:	282	2.23								
		Cost Per Man/I	Hr (8 HrDay):	35	5.28								
							Material						
Тур	Code	Description	Qu	antity	U/M	Base Rate	Cost		Discount			SIs Tax	Total
м	AGGR00001	Crusher Gravel	1,	954.00	ton	\$12.00	\$23,448.00		\$0.00			\$0.00	\$23,448.00
		TOTA	AL - Material: 1,	954.00			\$23,448.00		\$0.00			\$0.00	\$23,448.00
							Rental						
Тур	Code	Description	Qu	antity	υ/м	Base Rate	Cost	Fuel	Repairs	Insurance	Other	SIs Tax	Total
R	DOZER-D6	Cat D6 Dozer		2.50	Days	272.73	\$681.83	\$592.31	\$15.00	\$5.00	\$0.00	\$47.73	\$1,341.87
R	LOADER930	Cat 930 RT Loader		2.50	Days	204.55	\$511.38	\$473.85	\$12.50	\$2.50	\$0.00	\$35.80	\$1,036.02
R	ROL-DIRT	Roller - Dirt		2.50	Days	160.00	\$400.00	\$592.31	\$5.00	\$1.25	\$0.00	\$28.00	\$1,026.56
		то	OTAL - Rental:	7.50			\$1,593.20	\$1,658.48	\$32.50	\$8.75	\$0.00	\$111.52	\$3,404.45

### Project: MAIN\_ST

 Description:
 No. 123456, Reconstruction of Main Street

 Bid Date:
 rev date

 Revised:
 rev date

 Location:
 Orange County

 Contract #:
 D500231

#### NOTE: All Costs are calculated based on Takeoff Quantity.

### Bid Item: 301.05.2 - Fine Grade

						Equipment						
Тур	Code	Description	Quantity	U/M	Base Rate	Cost	Fuel	Repairs	Insurance	Other	SIs Tax	Total
E	LRW-001	Pickup, 3/4 ton	4.00	Days	15.91	\$63.64	\$80.00	\$4.00	\$1.00	\$0.00	\$0.00	\$148.64
		TOTAL - Equipment:	4.00			\$63.64	\$80.00	\$4.00	\$1.00	\$0.00	\$0.00	\$148.64
						Labor						
Тур	Code	Description	Quantity	U/M	Wages	Taxes	Gen Liab	Work Comp	Sm Tools	Holidays	Benefits	Total
L	LAB0001	Foreman	4.00	Days	\$547.20	\$77.16	\$79.71	\$68.77	\$27.36	\$0.00	\$224.32	\$1,024.51
L	LAB0002	Skilled laborer	4.00	Days	\$521.60	\$73.55	\$75.98	\$65.55	\$26.08	\$0.00	\$224.32	\$987.08
L	OPR0001	Class A Operator	4.00	Days	\$703.68	\$99.22	\$102.51	\$89.99	\$35.18	\$0.00	\$260.80	\$1,291.38
L	OPR0002	Class B Operator	8.00	Days	\$1,361.92	\$192.03	\$198.39	\$174.18	\$68.10	\$0.00	\$521.60	\$2,516.21
		TOTAL - Labor:	2	0.00	\$3,134.40	\$441.95	\$456.59	\$398.49	\$156.72	\$0.00	\$1,231.04	\$5,819.18
		Cost Per Man/Day:	29	0.96								
		Cost Per Man/Hr (8 HrDay):	3	6.37								
						Rental						
Тур	Code	Description	Quantity	U/M	Base Rate	Cost	Fuel	Repairs	Insurance	Other	SIs Tax	Total
R	GRADER12G	Cat 12G Grader	4.00	Days	325.00	\$1,300.00	\$1,010.88	\$8.00	\$8.00	\$0.00	\$91.00	\$2,417.88
R	LOADER930	Cat 930 RT Loader	4.00	Days	204.55	\$818.20	\$758.16	\$20.00	\$4.00	\$0.00	\$57.27	\$1,657.63
R	ROL-DIRT	Roller - Dirt	4.00	Days	160.00	\$640.00	\$947.70	\$8.00	\$2.00	\$0.00	\$44.80	\$1,642.50
		TOTAL - Rental:	12.00			\$2,758.20	\$2,716.74	\$36.00	\$14.00	\$0.00	\$193.07	\$5,718.01

### Project: MAIN\_ST

Description:No. 123456, Reconstruction of Main StreetBid Date:rev dateRevised:rev dateLocation:Orange CountyContract #:D500231

#### NOTE: All Costs are calculated based on Takeoff Quantity.

### Bid Item: 401.01 - Base Asphalt

						Equipment						
Тур	Code	Description	Quantity	U/M	Base Rate	Cost	Fuel	Repairs	Insurance	Other	SIs Tax	Total
E	LRW-001	Pickup, 3/4 ton	2.00	Days	15.91	\$31.82	\$40.00	\$2.00	\$0.50	\$0.00	\$0.00	\$74.32
		TOTAL - Equipment:	2.00			\$31.82	\$40.00	\$2.00	\$0.50	\$0.00	\$0.00	\$74.32
						Labor						
Тур	Code	Description	Quantity	U/M	Wages	Taxes	Gen Liab	Work Comp	Sm Tools	Holidays	Benefits	Total
L	LAB0001	Foreman	2.00	Days	\$273.60	\$38.58	\$39.86	\$34.38	\$13.68	\$0.00	\$112.16	\$512.26
L	LAB0002	Skilled laborer	4.00	Days	\$521.60	\$73.55	\$75.98	\$65.55	\$26.08	\$0.00	\$224.32	\$987.08
L	LAB0003	Basic Laborer	2.00	Days	\$249.60	\$35.19	\$36.36	\$31.37	\$12.48	\$0.00	\$112.16	\$477.16
L	LAB0005	Asphalt Raker	2.00	Days	\$264.00	\$37.22	\$38.46	\$33.76	\$13.20	\$0.00	\$112.16	\$498.80
L	OPR0001	Class A Operator	2.00	Days	\$351.84	\$49.61	\$51.25	\$45.00	\$17.59	\$0.00	\$130.40	\$645.69
L	OPR0002	Class B Operator	4.00	Days	\$680.96	\$96.02	\$99.20	\$87.09	\$34.05	\$0.00	\$260.80	\$1,258.11
		TOTAL - Labor:	1	6.00	\$2,341.60	\$330.17	\$341.10	\$297.15	\$117.08	\$0.00	\$952.00	\$4,379.09
		Cost Per Man/Day:	27	3.69								
		Cost Per Man/Hr (8 HrDay):	3	4.21								
						Material						
Тур	Code	Description	Quantity	U/M	Base Rate	Cost		Discount			SIs Tax	Total
м	ASPH00003	Type 3 Binder Asphalt Concrete	1,000.00	ton	\$62.00	\$62,000.00		\$0.00			\$0.00	\$62,000.00
		TOTAL - Material:	1,000.00			\$62,000.00		\$0.00			\$0.00	\$62,000.00
						Rental						
Тур	Code	Description	Quantity	U/M	Base Rate	Cost	Fuel	Repairs	Insurance	Other	SIs Tax	Total
R	PAVER-ASP	Asphalt Paver	2.00	Days	600.00	\$1,200.00	\$631.80	\$20.00	\$4.00	\$0.00	\$84.00	\$1,939.80
R	ROL-ASPH	Roller - Asphalt	4.00	Days	210.00	\$840.00	\$947.70	\$8.00	\$4.00	\$0.00	\$58.80	\$1,858.50
		TOTAL - Rental:	6.00			\$2,040.00	\$1,579.50	\$28.00	\$8.00	\$0.00	\$142.80	\$3,798.30

### Project: MAIN\_ST

 Description:
 No. 123456, Reconstruction of Main Street

 Bid Date:
 Revised:
 rev date

 Location:
 Orange County

 Contract #:
 D500231

#### NOTE: All Costs are calculated based on Takeoff Quantity.

## Bid Item: 401.01 - Base Asphalt

							Subcontractor			
Тур	Code	Description		Quantity	U/M	Base Rate	Cost	Discount	Sis Tax	Total
s	HAUL00001	Ton Trailers		1,000.00	ton	\$2.50	\$2,500.00	\$0.00	\$0.00	\$2,500.00
			TOTAL - Subcontractor:	\$1,000.00			\$2,500.00	\$0.00	\$0.00	\$2,500.00

### Project: MAIN\_ST

 Description:
 No. 123456, Reconstruction of Main Street

 Bid Date:
 rev date

 Location:
 Orange County

 Contract #:
 D500231

#### NOTE: All Costs are calculated based on Takeoff Quantity.

## Bid Item: 501.01 - Top Asphalt Course

						Equipment						
Тур	Code	Description	Quantity	U/M	Base Rate	Cost	Fuel	Repairs	Insurance	Other	SIs Tax	Total
E	LRW-001	Pickup, 3/4 ton	6.00	Days	15.91	\$95.46	\$120.00	\$6.00	\$1.50	\$0.00	\$0.00	\$222.96
		TOTAL - Equipment:	6.00			\$95.46	\$120.00	\$6.00	\$1.50	\$0.00	\$0.00	\$222.96
						Labor						
Тур	Code	Description	Quantity	U/M	Wages	Taxes	Gen Liab	Work Comp	Sm Tools	Holidays	Benefits	Total
L	LAB0001	Foreman	3.00	Days	\$410.40	\$57.87	\$59.78	\$51.57	\$20.52	\$0.00	\$168.24	\$768.38
L	LAB0002	Skilled laborer	6.00	Days	\$782.40	\$110.32	\$113.97	\$98.32	\$39.12	\$0.00	\$336.48	\$1,480.61
L	LAB0003	Basic Laborer	6.00	Days	\$748.80	\$105.58	\$109.08	\$94.10	\$37.44	\$0.00	\$336.48	\$1,431.48
L	LAB0005	Asphalt Raker	6.00	Days	\$792.00	\$111.67	\$115.37	\$101.29	\$39.60	\$0.00	\$336.48	\$1,496.41
L	OPR0001	Class A Operator	3.00	Days	\$527.76	\$74.41	\$76.88	\$67.50	\$26.39	\$0.00	\$195.60	\$968.54
L	OPR0002	Class B Operator	9.00	Days	\$1,532.16	\$216.03	\$223.19	\$195.95	\$76.61	\$0.00	\$586.80	\$2,830.74
		TOTAL - Labor:	3	3.00	\$4,793.52	\$675.89	\$698.27	\$608.73	\$239.68	\$0.00	\$1,960.08	\$8,976.17
		Cost Per Man/Day:	27	2.01								
		Cost Per Man/Hr (8 HrDay):	3	4.00								
						Material						
Тур	Code	Description	Quantity	U/M	Base Rate	Cost		Discount			Sis Tax	Total
м	ASPH0007F	Type 7F Top Course (HF) Asph.	430.50	ton	\$78.00	\$33,579.00		\$0.00			\$0.00	\$33,579.00
		TOTAL - Material:	430.50			\$33,579.00		\$0.00			\$0.00	\$33,579.00
						Rental						
Тур	Code	Description	Quantity	U/M	Base Rate	Cost	Fuel	Repairs	Insurance	Other	SIs Tax	Total
R	PAVER-ASP	Asphalt Paver	3.00	Days	600.00	\$1,800.00	\$947.70	\$30.00	\$6.00	\$0.00	\$126.00	\$2,909.70
R	ROL-ASPH	Roller - Asphalt	9.00	Days	210.00	\$1,890.00	\$2,132.33	\$18.00	\$9.00	\$0.00	\$132.30	\$4,181.63
		TOTAL - Rental:	12.00			\$3,690.00	\$3,080.03	\$48.00	\$15.00	\$0.00	\$258.30	\$7,091.33

### Project: MAIN\_ST

 Description:
 No. 123456, Reconstruction of Main Street

 Bid Date:
 rev date

 Location:
 Orange County

 Contract #:
 D500231

#### NOTE: All Costs are calculated based on Takeoff Quantity.

# Bid Item: 501.01 - Top Asphalt Course

	Subcontractor									
Тур	Code	Description		Quantity	U/M	Base Rate	Cost	Discount	SIs Tax	Total
s	SMC 15165-115653	CERTIFIED WBE		4.00	EA	\$325.00	\$1,300.00	\$0.00	\$0.00	\$1,300.00
			TOTAL - Subcontractor:	\$4.00			\$1,300.00	\$0.00	\$0.00	\$1,300.00

Cost Summary Total: 279,169.34